

EXTENDED METHOD OF QUASILINEARIZATION FOR A THREE-POINT BOUNDARY VALUE PROBLEM WITH GENERAL NONLINEAR NONCONVEX BOUNDARY CONDITIONS

Ahmed Alsaedi and Mohammed Alhuthali†*

Department of Mathematics,
Faculty of science, King Abdul Aziz University,
P.O.Box. 80257, Jeddah 21589, Saudi Arabia

Abstract

In this paper, We apply the generalized quasilinearization technique to obtain a monotone sequence of approximate solutions converging monotonically and quadratically to the unique solution of a second order three-point boundary value problem with general nonlinear nonconvex boundary conditions.

Key Words and Phrases: Quasilinearization, three-point boundary value problem, quadratic convergence.

AMS Subject Classifications (2000): 34B10, 34B15.

1 Introduction

The method of quasilinearization initiated by Bellman and Kalaba [1], and generalized by Lakshmikantham [2-3] has been studied and extended in several diverse disciplines. In fact, it is generating a rich history and a comprehensive description of this method can be found in [4-10].

Multi-point nonlinear boundary value problems, which refer to a different family of boundary conditions in the study of disconjugacy theory [11], have been addressed by many authors, for example, [12-14]. In particular, Eloe and Gao [15] discussed the quasilinearization method for a three-point boundary value problem.

The aim of this paper is to relax the assumption of convexity/concavity on the nonlinear general boundary conditions involved in the second order three-point boundary value problem and discuss the extended method of quasilinearization for this problem. In fact, we develop a sequence of approximate solutions converging monotonically and quadratically to a solution of the problem.

*E-mail address: aalsaedi@hotmail.com

†E-mail address: moadth@yahoo.com

2 Preliminary Results

We consider the three-point boundary value problem with general nonlinear boundary conditions

$$x''(t) = f(t, x(t)), \quad (1)$$

$$px(0) - qx'(0) = a, \quad px(1) + qx'(1) = g(x(\frac{1}{2})), \quad (2)$$

where $f \in C[[0, 1] \times R, R]$, $p, q > 0$ with $p > 1$ and $g : R \rightarrow R$ is continuous. By Green's function method, the solution, $x(t)$ of (1)-(2) can be written as

$$x(t) = a\left(\frac{-t}{p+2q} + \frac{p+q}{p^2+2pq}\right) + g(x(\frac{1}{2}))\left[\frac{t}{p+2q} + \frac{q}{p^2+2pq}\right] + \int_0^1 G(t, s)f(s, x(s))ds,$$

where the Green's function $G(t, s)$ for the general three-point boundary value problem is given by

$$G(t, s) = \frac{1}{(p^2+2pq)} \begin{cases} (pt+q)(p(s-1)-q), & \text{if } 0 \leq t \leq s \leq 1 \\ (p(t-1)-q)(ps+q), & \text{if } 0 \leq s \leq t \leq 1 \end{cases}$$

Notice that $G(t, s) < 0$ on $(0, 1) \times (0, 1)$.

We say that $\alpha \in C^2[0, 1]$ is a lower solution of the boundary value problem (1)-(2) if

$$\alpha''(t) \geq f(t, \alpha), \quad t \in [0, 1],$$

$$p\alpha(0) - q\alpha'(0) \leq a, \quad p\alpha(1) + q\alpha'(1) \leq g(\alpha(\frac{1}{2})),$$

and $\beta \in C^2[0, 1]$ be an upper solution of the boundary value problem (1)-(2) if

$$\beta''(t) \leq f(t, \beta), \quad t \in [0, 1],$$

$$p\beta(0) - q\beta'(0) \geq a, \quad p\beta(1) + q\beta'(1) \geq g(\beta(\frac{1}{2})).$$

Now, we state the following theorems which play a pivotal role in the proof of the main result (for the proof of these theorems, see [16]).

Theorem 1. Assume that f is continuous with $f_x > 0$ on $[0, 1] \times R$ and g is continuous with $0 \leq g' < 1$ on R . Let β and α be the upper and lower solutions of (1)-(2) respectively. Then $\alpha(t) \leq \beta(t)$, $t \in [0, 1]$.

Theorem 2. Assume that f is continuous on $[0, 1] \times R$ and g is continuous on R satisfying $0 \leq g' < 1$. Further, we assume that there exist an upper solution β and a lower solution α of (1)-(2) such that $\alpha(t) \leq \beta(t)$, $t \in [0, 1]$. Then there exists a solution $x(t)$ of (1)-(2) satisfying $\alpha(t) \leq x(t) \leq \beta(t)$, $t \in [0, 1]$.

3 Main Result

Theorem 3. Assume that

(A₁) $f(t, x) \in C([0, 1] \times R)$ such that $\frac{\partial f}{\partial x}(t, x) > 0$, $\frac{\partial^2}{\partial x^2}(f(t, x) + \phi(t, x)) \leq 0$, where $\frac{\partial^2}{\partial x^2}\phi(t, x) \leq 0$ for some continuous function $\phi(t, x)$.

(A₂) $\alpha, \beta \in C^2[0, 1]$ are lower and upper solutions of (1.1)-(1.2) respectively.

(A₃) $g(x), g'(x)$ are continuous on R with $0 \leq g' \leq 1$ and $g''(x) + \psi''(x) \geq 0$ for some continuous function $\psi(x)$ satisfying $\psi''(x) \geq 0$.

Then there exists a monotone sequence of solutions $\{w_n\}$ converging quadratically to the unique solution, x of (1)-(2).

Proof. Define $F : [0, 1] \times R \rightarrow R$ by

$$F(t, x) = f(t, x) + \phi(t, x).$$

Using (A₁) and (A₃), we obtain

$$f(t, x) \leq F(t, y) + F_x(t, y)(x - y) - \phi(t, x), \quad (3)$$

and

$$g(x) \geq \chi(y) + \chi'(y)(x - y) - \psi(x), \quad (4)$$

where $\chi(x) = g(x) + \psi(x)$ and $\alpha \leq y \leq x \leq \beta$.

Define

$$F^*(t, x, y) = F(t, y) + F_x(t, y)(x - y) - \phi(t, x),$$

and

$$h(x, y) = \chi(y) + \chi'(y)(x - y) - \psi(x).$$

We observe that

$$f(t, x) = \min_y F^*(t, x, y), \quad f(t, x) = F^*(t, x, x) \quad (5)$$

$$g(x) = \max_y h(x, y), \quad g(x) = h(x, x). \quad (6)$$

In view of the fact that $f_x(t, x) > 0$, we find that $F_x^*(t, x, y) > 0$ which implies that $F_x^*(t, x, y)$ is increasing in x for each $(t, y) \in [0, 1] \times R$. Similarly, $g'(x) = h_x(x, y)$ and by (A₃), we have $0 \leq h_x(x, y) \leq 1$. Select $\alpha = w_0$ and consider the following BVP

$$x''(t) = F^*(t, x(t), w_0(t)), \quad t \in [0, 1], \quad (7)$$

$$px(0) - qx'(0) = a, \quad px(1) + qx'(1) = h(x(\frac{1}{2}), w_0(\frac{1}{2})). \quad (8)$$

Using (A₃), (5) and (6), we obtain

$$w_0'' \geq f(t, w_0) = F^*(t, w_0, w_0), \quad t \in [0, 1],$$

$$pw_0(0) - qw_0'(0) \leq a, \quad pw_0(1) + qw_0'(1) \leq g(w_0(\frac{1}{2})) = h(w_0(\frac{1}{2}), w_0(\frac{1}{2})),$$

and

$$\beta'' \leq f(t, \beta) \leq F^*(t, \beta, w_0), \quad t \in [0, 1],$$

$$p\beta(0) - q\beta'(0) \geq a, \quad p\beta(1) + q\beta'(1) \geq g(\beta(\frac{1}{2})) \geq h(\beta(\frac{1}{2}), w_0(\frac{1}{2})),$$

which imply that w_0 and β are lower and upper solutions of (7)-(8) respectively. It follows by Theorems 1 and 2 that there exists a unique solution, w_1 of (7)-(8) such that

$$w_0(t) \leq w_1(t) \leq \beta(t), \quad t \in [0, 1].$$

Now, we consider the BVP

$$x'' = F^*(t, x(t), w_1(t)), \quad t \in [0, 1], \quad (9)$$

$$px(0) - qx'(0) = a, \quad px(1) + qx'(1) = h(x(\frac{1}{2}), w_1(\frac{1}{2})). \quad (10)$$

Again, using (A₃), (5) and (6), we get

$$w_1'' = F^*(t, w_1, w_0) \geq F^*(t, w_1, w_1), \quad t \in [0, 1],$$

$$pw_1(0) - qw_1'(0) \leq a, \quad pw_1(1) + qw_1'(1) = h(w_1(\frac{1}{2}), w_0(\frac{1}{2})) \leq h(w_1(\frac{1}{2}), w_1(\frac{1}{2})),$$

and

$$\beta'' \leq f(t, \beta) \leq F^*(t, \beta, w_1), \quad t \in [0, 1],$$

$$p\beta(0) - q\beta'(0) \geq a, \quad p\beta(1) + q\beta'(1) \geq g(\beta(\frac{1}{2})) \geq h(\beta(\frac{1}{2}), w_1(\frac{1}{2})),$$

implying that w_1 and β are lower and upper solutions of (9) – (10) respectively. By the earlier arguments, there exists a solution, w_2 of (9) – (10) such that

$$w_1(t) \leq w_2(t) \leq \beta(t), \quad t \in [0, 1].$$

Continuing this process successively, we obtain a monotone sequence $\{w_n\}$ of solutions satisfying

$$w_0(t) \leq w_1(t) \leq w_2(t) \leq \dots \leq w_n(t) \leq \beta(t), \quad t \in [0, 1],$$

where each element w_n of the sequence is a solution of the BVP

$$x'' = F^*(t, x(t), w_{n-1}(t)), \quad t \in [0, 1],$$

$$px(0) - qx'(0) = a, \quad px(1) + qx'(1) = h(x(\frac{1}{2}), w_{n-1}(\frac{1}{2})),$$

and is given by

$$\begin{aligned} w_n(t) &= a\left(\frac{-t}{p+2q} + \frac{p+q}{p^2+2pq}\right) + h(w_n(\frac{1}{2}), w_{n-1}(\frac{1}{2}))\left[\frac{t}{p+2q} + \frac{q}{p^2+2pq}\right] \\ &+ \int_0^1 G(t,s)F^*(s, w_n(s), w_{n-1}(s))ds. \end{aligned} \quad (11)$$

Employing the fact that $[0, 1]$ is compact and the monotone convergence is pointwise, it follows that the convergence of the sequence is uniform. If $x(t)$ is the limit point of the sequence, then passing

onto the limit $n \rightarrow \infty$, (11) gives

$$\begin{aligned} x(t) &= a\left(\frac{-t}{p+2q} + \frac{p+q}{p^2+2pq}\right) + h\left(x\left(\frac{1}{2}\right), x\left(\frac{1}{2}\right)\right)\left[\frac{t}{p+2q} + \frac{q}{p^2+2pq}\right] \\ &+ \int_0^1 G(t,s)F^*(s,x(s),x(s))ds \\ &= a\left(\frac{-t}{p+2q} + \frac{p+q}{p^2+2pq}\right) + g\left(x\left(\frac{1}{2}\right)\right)\left[\frac{t}{p+2q} + \frac{q}{p^2+2pq}\right] \\ &+ \int_0^1 G(t,s)f(s,x(s))ds. \end{aligned}$$

Hence, $x(t)$ is the solution of (1)-(2).

Now, we show that the convergence of the sequence of iterates is of order $k(k \geq 2)$. For that, we define $e_n(t) = x(t) - w_n(t)$, $t \in [0, 1]$ and note that $e_n(t) \geq 0$. Further

$$pe_n(0) - qe'_n(0) = 0, \quad pe_n(1) + qe'_n(1) = g\left(x\left(\frac{1}{2}\right)\right) - h\left(w_n\left(\frac{1}{2}\right), w_{n-1}\left(\frac{1}{2}\right)\right).$$

Using the generalized mean value theorem, we have

$$\begin{aligned} e''_{n+1}(t) &= x'' - w''_{n+1} \\ &= F(t,x) - \phi(t,x) - [F(t,w_n) + F_x(t,w_n)(w_{n+1} - w_n) - \phi(t,w_{n+1})] \\ &= F_x(t,c_1)(x - w_n) - F_x(t,w_n)(x - w_n) \\ &+ [F_x(t,w_n) - \phi_x(t,c_2)](x - w_{n+1}) \\ &= F_{xx}(t,c_3)(c_1 - w_n)(x - w_n) + [F_x(t,w_n) - \phi_x(t,c_2)](x - w_{n+1}) \\ &\geq F_{xx}(t,c_3)e_n^2 + f_x(t,c_2)e_{n+1} \\ &\geq -M\|e_n\|^2, \end{aligned}$$

where M is a bound on $F_{xx}(t,x)$ for $t \in [0, 1]$, $w_n < c_3 < c_1 < x$, $w_{n+1} < c_2 < x$ and $\|e_n\| = \max\{|e_n(t)| : t \in [0, 1]\}$. Thus, we have

$$\begin{aligned} e_{n+1}(t) &= [g\left(x\left(\frac{1}{2}\right)\right) - h\left(w_{n+1}\left(\frac{1}{2}\right), w_n\left(\frac{1}{2}\right)\right)]\left[\frac{t}{p+2q} + \frac{q}{p^2+2pq}\right] + \int_0^1 G(t,s)e''_{n+1}(s)ds \\ &\leq [\chi\left(x\left(\frac{1}{2}\right)\right) - \chi\left(w_n\left(\frac{1}{2}\right)\right) - (\psi\left(x\left(\frac{1}{2}\right)\right) - \psi\left(w_{n+1}\left(\frac{1}{2}\right)\right))] \\ &- \chi'\left(w_n\left(\frac{1}{2}\right)\right)\left(w_{n+1}\left(\frac{1}{2}\right) - w_n\left(\frac{1}{2}\right)\right)\left[\frac{t}{p+2q} + \frac{q}{p^2+2pq}\right] + M\|e_n\|^2 \int_0^1 |G(t,s)|ds \\ &= [\chi'(c_4)\left(x\left(\frac{1}{2}\right) - w_n\left(\frac{1}{2}\right)\right) - \psi'(c_5)\left(x\left(\frac{1}{2}\right) - w_{n+1}\left(\frac{1}{2}\right)\right)] \\ &- \chi'\left(w_n\left(\frac{1}{2}\right)\right)\left(w_{n+1}\left(\frac{1}{2}\right) - w_n\left(\frac{1}{2}\right)\right)\left[\frac{t}{p+2q} + \frac{q}{p^2+2pq}\right] + M\|e_n\|^2 \int_0^1 |G(t,s)|ds \\ &\leq [\chi''(c_6)e_n^2\left(\frac{1}{2}\right) + g'\left(w_n\left(\frac{1}{2}\right)\right)e_{n+1}\left(\frac{1}{2}\right)]\left[\frac{t}{p+2q} + \frac{q}{p^2+2pq}\right] + M_1\|e_n\|^2, \end{aligned}$$

where M_1 provides a bound for $M \int_0^1 |G(t,s)|ds$, $w_n(\frac{1}{2}) < c_6 < c_4 < x(\frac{1}{2})$, $w_n(\frac{1}{2}) < c_5 < x(\frac{1}{2})$. Taking maximum over the interval $[0, 1]$, we get

$$\|e_{n+1}\| < M_5\|e_n\|^2 + \lambda_1\|e_{n+1}\|, \tag{12}$$

where M_2 provides a bound for $|\chi''|$ on $[w_n(\frac{1}{2}), x(\frac{1}{2})]$, $|g'| \leq \lambda < 1$, $M_5 = M_4 + M_1$, $M_4 = M_2 M_3$, $\lambda_1 = \lambda M_3$ and $M_3 = \frac{1}{p+2q} + \frac{q}{p^2+2pq}$. Solving (12) algebraically, we obtain

$$\|e_{n+1}\| \leq \frac{M_5}{1-\lambda_1} \|e_n\|^2.$$

This completes the proof.

References

- [1] R. Bellman and R. Kalaba, Quasilinearization and Nonlinear Boundary Value Problems, Amer. Elsevier, New York, 1965.
- [2] V. Lakshmikantham, An extension of the method of quasilinearization, *J. Optim. Theory Appl.*, **82**(1994), 315-321.
- [3] V. Lakshmikantham, Further improvement of Generalized quasilinearization, *Nonlinear Anal.*, **27**(1996), 223-227.
- [4] V. Lakshmikantham and A.S. Vatsala, Generalized Quasilinearization for Nonlinear Problems, Kluwer Academic Publishes, Dordrecht, 1998.
- [5] J.J. Nieto, Generalized quasilinearization method for a second order differential equation with Dirichlet boundary conditions, *Proc. Amer. Math. Soc.*, **125**(1997), 2599-2604.
- [6] A. Cabada, J.J. Nieto and Rafael Pita-da-veige, A note on rapid convergence of approximate solutions for an ordinary Dirichlet problem, *Dynam. Contin. Discrete Impuls. systems*, **4**(1998), 23-30.
- [7] A. Cabada and J.J. Nieto, Quasilinearization and rate of convergence for higher order nonlinear periodic boundary value problems, *J. Optim. Theory Appl.*, **108**(2001), 97-107.
- [8] Bashir Ahmad, J.J. Nieto and N. Shahzad, The Bellman-Kalaba-Lakshmikantham quasilinearization method for Neumann problems, *J. Math. Anal. Appl.*, **257**(2001), 356-363.
- [9] Bashir Ahmad, J.J. Nieto and N. Shahzad, Generalized quasilinearization method for mixed boundary value problems, *App. Math. Comput.*, **133**(2002), 423-429.
- [10] Bashir Ahmad, Ahmed Alsaedi and S. Sivasundaram, Approximation of the solution of nonlinear second order integro-differential equations, *Dynamic Systems Appl.* (To appear).
- [11] W. Coppel, Disconjugacy, Lecture Notes in Mathematics, Vol.220, Springer-Verlag, NewYork/Berlin (1971).
- [12] I.T. Kiguradze and A.G. Lomtatidze, In certain boundary value problems for second order linear ordinary differential equations with singularities, *J. Math. Anal. Appl.*, **101**(1984), 325-347.
- [13] C.P. Gupta, A second order m-point boundary value problem at resonance, *Nonlinear Anal.*, **24**(1995), 1483-1489.
- [14] C.P. Gupta and S. Trofimchuck, A priori estimates for the existence of a solution for a multi-point boundary value problem, *J. Inequal. Appl.*, **5**(2000), 351-365.

- [15] P. Eloe and Y. Gao, The method of quasilinearization and a three-point boundary value problem, *J. Korean Math. Soc.*, **39**(2002), 319-330 .
- [16] Bashir Ahmad and Tagreed G. Sogati, A second order three-point boundary value problem with mixed nonlinear boundary conditions, *Methods Appl. Anal.* **11**(2004), 295-302.